tEaEEHNT)TERE] gremz
UOTNTSODEESE

20245 3A% P EFREE@OSHMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 0.00|M/kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIEE . HENREBEM=(A—C)xDx(1+HERE) = 0.00JF4/kWh
A BTADTYTZITSARATEHE-(1-18KE) x AR 11.19 RADTYT7ISAXEHIE 9.37
B: RITIRAEEAER(E (Fitk) 8.50 =P 7.9%
C: BNNFREEELE R (Fitk) 12.50 RER 110%
D: ®EAE 100%

Bt
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 3.58|F/kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIEE . HENREBEM=(A—C)xDx(1+HERE) = 3.58|F1/kWh
A: BTRDIVTZISARFEHE (118K E) x AR 11.25 BADTIYT7ISAXEHIE 9.36
B: RITIRAEEAER(E (Fitk) 4.00 =P 8.5%
C: BNNFREEELE R (Fitk) 8.00 RER 110%
D: ®EAE 100%
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FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 2.04|F/kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIZE ., HENRAERM=(A—C)xDx(1+HEMRE) = 2.04|F/kWh
A: BTRDIVTZISARFEHE (118K E) x AR 11.85 RADTYT7ISAXEHIE 10.03
B: RITIRAEEAER(E (Fitk) 6.00 =P 6.9%
C: BNNFREEELE R (Fitk) 10.00 RER 110%
D: ®EAE 100%
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FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 2.67|FH/kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIEE . HENREBEM=(A—C)xDx(1+HERE) = 2.67|FM/kWh
A BTADTYTZITSARATEHE-(1-18KE) x AR 11.43 RADTYT7ISAXEHIE 9.65
B: RITIRAEEAER(E (Fitk) 5.00 BEE 7.1%
C: BNNFREEELE R (Fitk) 9.00 RER 110%
D: ®EAE 100%
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 4.15|M/kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIEE . HENREBEM=(A—C)xDx(1+HERE) = 4.15|/kWh
A: BTADIVTISARFEHE-(1-BRE) < FEEX 10.77 RADIVT IS4 REHIE 9.03
B: RITIRAEEAER(E (Fitk) 3.00 =P 7.8%
C: BNNFREEELE R (Fitk) 7.00 RER 110%
D: ®EAE 100%
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FREIBANDITEREHY . EHILBLETEYS,
BADBIHEICEFTNOIRMEFHBEME. TELOBYESHOELET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

R D15kWhET BiaA 49.65|M
EEList Bl 3.31|FM/kWh
(1) AR B ER B Bl = (9 PARHEIAE —OF) x E#EHi{fi=-1,000 = RHD15kWhET 0.00|F
20235108 ~2023F 12 A D E S sHEE EEELIS 0.00JF4/kWh
A: 1KY O FH R im g 86,220 M o: 0.0000
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000 ~ 15kWhEE % B {ffy 0.000 M
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000 16kWh~ Z£#£ B {fy 0.000 M
EHREHMEE = Axa +BxB +Vxy =0H (100K EFEE R A)
() BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
20235108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H 7Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhits 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHABEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIGE ., HENRAEREM=(A—C)xDx(1+HEMRE) = 3.31|M/kWh
A: BTRDIVT7ISARFEHE (118K %) x AR 10.51 RADTYT7ISAXEHIE 8.81
B: RITIABEAER(E (Fitk) 3.50 BEE 7.8%
C: BNNFREEELE R (Fitk) 7.50 RER 110%
D: BEAE 100%
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FREIBANDITEREHY . EHILBLETEYS,
BADBIHEICEFTNOIRMEFHBEME. TELOBYESHOELET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

R D15kWhET BiaA 58.35|M
EEList Bl 3.89|F/kWh
(1) AR B ER B Bl = (9 PARHEIAE —OF) x E#EHi{fi=-1,000 = RHD15kWhET 0.00|F
20235108 ~2023F 12 A D E S sHEE EEELIS 0.00JF4/kWh
A: 1KY O FH R im g 86,220 M o: 0.0000
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000 ~ 15kWhEE % B {ffy 0.000 M
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000 16kWh~ Z£#£ B {fy 0.000 M
EHREHMEE = Axa +BxB +Vxy =0H (100K EFEE R A)
() BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
20235108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H 7Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhits 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHABEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIGE ., HENRAEREM=(A—C)xDx(1+HEMRE) = 3.89|F/kWh
A: BTRDIVT7ISARFEHE (118K %) x AR 10.53 RADTYT7ISAXEHIE 8.81
B: RITIABEAER(E (Fitk) 3.00 BEE 8.0%
C: BNNFREEELE R (Fitk) 7.00 RER 110%
D: BEAE 100%
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

MHBERBHEM=RHEREEME QMBI =/ \—Y )L Y —E XA E{E +(3)H1E H IR EE B

BUID1IKWhET BiaA 30.25|M
EEList Bl 2.75|F/kWh
(1) AR B ER B Bl = (9 PARHEIAE —OF) x E#EHi{fi=-1,000 = RHDIKWhET 0.00|F
20235108 ~2023F 12 A D E S sHEE EEELIS 0.00JF4/kWh
A: 1KY O FH R im g 86,220 M o: 0.0000
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000 ~11kWhE B 0.000 M
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000 12kWh~ ZE#£ B {fy 0.000 M
EHREHMEE = Axa +BxB +Vxy =0H (100K EFEE R A)
() BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
20235108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H 7Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhits 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHABEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIGE ., HENRAEREM=(A—C)xDx(1+HEMRE) = 2.75|FM/kWh
A: BTRDIVT7ISARFEHE (118K %) x AR 10.50 BADTYT7ITSAXEHIE 8.77
B: RITIABEAER(E (Fitk) 4.00 BEE 8.1%
C: BNNFREEELE R (Fitk) 8.00 R 110%
D: BEAE 100%
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20245 3A% P EFREE@OSHMSE MBI LRSI —

FRIFHNOISEEBY . EAHEHILBLEFES,
BHOBIHBICEINOIMHMEFAREMEZ. TEOBYSMOELFET,

MEERE (T, B ARICKBDIESIE EEDHESFIEHIAS 50 /kWh) M B FRBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PR EERERE=1)RHEABREE+ QBRI N\— )L —E R FAREE + QAT H B E
= FiA 251 | /kWh

(1) AR B ER B Bl = (9 PARHEIS —OF) x E#EHifi 1,000 = 0.00|F4/kWh
202345108 ~2023F 12 A D E S sHEE
A: 1K1Y O F R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 0.0000
EHREHMEE = Axa +BxB +Vxy =0H (100K EFE R A)
(2) BB /N—Y LY —E RFAEEH = (B ST HARMER —0F) x EAEH(Hi+1,000 = 0.00J 4 /kWh
202345108 ~2023F 12 A D E S sHEE
A: 1KY O FH R im g 86,220 M o: 0.0000 i 0.000 [
B: 1t&H =Y DT HLNGIEE 95,661 A B: 0.0000
C: 1tH1=Y DA FifhitE 26,598 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)
Q) MENRBEEM=A<BDGE. HENHBEM=(A—B)XDx(1+HEHBE) = 0.00JF4/kWh
ASCOIZE ., HENRAERM=(A—C)xDx(1+HEMRE) = 2.51|FM/kWh
A: BTRDIVTZISARFEHE (118K E) x AR 10.28 BADTIYT7ISAXEHIE 8.54
B: RITIRAEEAER(E (Fitk) 4.00 =P 8.6%
C: BNNFREEELE R (Fitk) 8.00 RER 110%
D: ®EAE 100%




